Each row in the following table pairs a force vector B i

with a corresponding displacement resulting in work %% ®

W being done. In which of these rows is the work %%%

done zero? =
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Each row in the following table pairs a force vector M-r"“‘f:j S

with a corresponding displacement resulting in work % © .

W being done. In which of these rows is the work %% o

done positive? =
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A young girl wants to select one of the = °9
(frictionless) playground slides illustrated below %oﬁ

to give her the greatest possible speed when she =
reaches the bottom of the slide. Which should she
choose?

5. It doesn’t matter. It would be the same for each.



A young girl wants to select one of the %%%@
(frictionless) playground slides illustrated below %%;f
to get her to the bottom of the slide the fastest.

Which should she choose?

5. It doesn’t matter. It would be the same for each.



